Math 308 Quiz 1
June 3, 2015

Name: AN W el

Instructions: Answer all problems in the space provided.
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1. Whatisaset?: % Lo

2. What is the symbol for the null or empty set?: /Q{

) ] . i
3. Define the empty set: d = TLLO_, ,(‘e:lr contalmlng no 2 :*««qlf,
7 ]

=

4. Define what is means for a set 4 to be a subset of a set B: ’;ve;tj Qr\nﬁ,. M&-\AJ\' L A 1.e c}‘ A e

m B, Or, xeA=D xeB,

5. What expression do we write to mean 4 is a subset of B? A < g

6. What expression do we write to mean A4 is a proper subset of B? A < B

7. Fill in the blanks:
(@) N={1, 2,3, ...} = Natural numbers

(b) Z= {O/i‘/izfﬁz)*”j; —_Intege<s

o A ay
(c) Q= {’Qf l @,baz, fp*LQj - Potione] numbecs
(d) C = {h'f‘bgl %)Lsé:‘ﬂz\) f.,,m:"”‘f

\__.{+..j

= Complex numbers

8. Describe the set in the form {x | p(x)} where p(x) is a condition on x: o
() A={1,234,.. ,88}= L | xe N x €X€{ .. SxlxeZ, 1= x<38Y, ete.

b) B={-1,01,23 = [ x| xeZ, -1 exey
(c) C=(03]= {xf "6@; .cmx;ez}

9. What is the cardinality of each of the above sets? (Write as equations using proper notation):
() _|Al= 2%
(b) 1Rl=5

) 1Cl=22 , in %omfjrlc,ulca_{ G

10. Let 4 = {1,2, a}, find: ” )
@ P = L8, 003,623, 0e3 uayfued, {26y f1,2,a%

(b) |A] = 3
(c) [P(A)] = 3
11. Give examples of sets S such that: . - } o ) >
(a) SSP(Z): S= 0% 27 (Tlexe oxe paunyv covceet angoe<s)
“ssedal satr bff integers ’ =
(b) SEP(Z): S= Qf o~ 513 g (l \”?”S (f?/\e(e, o€ M&\“‘\j c.orr.,-,c,,\.‘ o-v\_s‘w&‘f?)f
Sgeds of inteqews.

Bonus problems:

1
1. For nonempty sets A and B, define A X B = g(o‘lb) } a,e'A/ 'z?@gg




